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HSR INTv B2 01 m 0.18 m 0.18 0.18 0.18 m
X = h = rox— CAT DIRE deitd rox—
i = Vio30 304CCR U-40-6 AX40u Vio40
2 0O — S — N ARN S ARVA S myN AV
B & ¥ m E 2 kg 2,980 4,790 4,440 4,270 4,270
= R<E # B>A T 4,470 5,440 5315 5,340 5,150
e 5<E #% 8>8B T 2,500 2,550 2,490 2,540 2,620
E# ES = © T 1,650 1,980 1,960 1,960 1,970
FEIE & P 0 B BD T 1,250 1,580 1,560 1,660 1,670
% b £ E T 1,770 2,070 1,990 2,000 2,190
& L& B F Tt 300 400 400 400 350
N 7 v b & 8 m 0.1 0.18 0.18 0.18 0.18
N v~ 186 Tt 540 600 600 600 650
& K # Al RH Tt 2,950 3,630 3,385 3.350 3,500
RKXEBIEHZRI Tt 2,290 2.830 2,665 2,550 2.850
%% B KX & A ¥ &I Tt 4,730 6,040 5,850 5,600 5,500
R K # H 5K Tt 4,550 5,690 5,465 5,600 5,650
= A ¥ Y 7 5L Tt 3,160 3,920 3,800 3.920 4,000
& /N kO ¥ & " 2,050 2,360 2,390 2,190 2,060
= R AE ) = 30 30 30 30 30
= 17 =R B kn/h |§451€27 544K 24|5491K28|545K28|/5461K23
RS T 1% ] 73 PS/mm | 25.2/2,200 | 42.1/2,400 | 42.4/2,200 | 40.5/2,500 | 39.2/2,400
% ES B "n 1,550 1,980 1,960 1,960 1,970
= =5 " 330 375 405 360 405
mE R Y OB 8 0 41 68 68 70 64
Z L > @(0.9) @09 ® (0.9 @ (0.99) @ (1.1)
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